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Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.
Any candidate found using unfair means in the examination halls/rooms shall be
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Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.
Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed,

There will be one single OMR Answer-Sheet for all the gquestions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.
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fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 100 questions of 1.50 mark against
each question.

There is no negative marking for any wrong answer.

Candidate should note that each guestion is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium /version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘A’, then he/she should fill up ‘A’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘A’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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*A1 09:55 IHIT FITS PO T |

OMR U&7 *[@9 JUR JBUHIS W5 TEIh! fBEs T/ wteirs erht AR At 7167 |

o +ArF B 4 TRrErS @I AR Ak e oot A w2 4R I R I}
s il 7129 |

o I @Il *RArFIAIE SIS S TaerEe FE 91 SUFO S F9 A9 Pz Teed 3,
(STT (ST =1l 3 [ranat 9127 |

® Non-Standard OMR I@@® 20 *R=A@ fem @F 791 enaees e 5120 =
ferf2m =ifom |

o Rl s il Boifes /= “iae wae = 343 #ifem, eemam oSt [
FHS TP 8439 FRE TS AF FERER OMR Te39d wiF ep@edrl FErses =
RIR TS | @Il R A SofEs /@ “ae fTeraR 3% Jres 791, (OS2 @ (SEFE
weeifEs 3fer «fa Rl 2’9 |

o *RPeIdiE el <O QG Y591 (rough) TN eMwires fiml siTer <9 AfTT |
RPN 4531 (rough) T TG 1q S+ (P 447 TGS P43 @RI | T€F “fqe 7w
@2 4541 (rough) P *_IIAE F, (SFSA2 T (ST TG I TR 1 712 7 |

o FIE &EF AW AIFT 93 @ OMR T *[@z it 7 | T T I W8T FRAE
HfeR& @i e g il 72’7 |

® 2ETTET FMC 997 OMR Tes “@ fiml 29 | “rwidim &2 2 OMR %1+
eHFITCY T, LEFTCT TT, oI AT @@ /T A IA-A42D (AR [l FRA
#1199 |

o “FTFE Y 2 95! WF HTFOT 100 b 2 AT AF ol &R @ 1.50 TEE
9] |

® 57 TG T (T AP 779 AR |

® FIEHIER B {279 @ “I_FENE OMR TG @S a1/ 7 I9-71%D (ReE 2R
R #Mfem |

o RreifiE (R it e I @ TS Pz ITSAF 279, @ SPTm,
e, 0w, oM =T QG | 92 oFgS T A FITS @I 43R Fomts g I
CAITS SPfH 2 7o SEATE] FRFR DI 2F© W% =1 1 T |
Important Instruction :

o T FPve @[l Tt IS eHiTeT T TF90 OMR TeT “aq e bz it =3 |
TR, RS o T4 eETITeT U ‘A’ it OMR Ted iam e biEe A’
i3 wAifeR =i e @ A T 3911 I199 71iPR | eraiees 6t femfe @R s_Rmidie
TCFIR AT TR ST PO Teie R A |

o 3 FH G5 FIT 1S *AHAE FIHFT IS OMR TG a7 TS FIToHl
T R =Aife | e e e st 3 Rrbe 23 |
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OMR T&s “Gaa 3L Tefbrs wam Teafh e wam < erdfb Uit #ite 1 |

o T DS AP SREH @ AT Y FrEd foorE e wYdl A9 I @ A2
G S Cred ZA |

o % @ AT P18 THE SEE T Al SAE SEY FAl ARwE P Shew a0,
S(E SIS SIS0 I [Esat 91 24 |

® T+ SBIEITE OMR T@a “itaq &) “[Aridice freme @ie w&a erseitae e 2t =2 o
e Ta |

o saridfvere farerea Geal BHFERs /W@E “ta TAIF 2 A0S 20[, AUTIE OITE A
ICT TP &% T ANE GR TSR OMR @9 @R 7@ Marese o9 (reE
A | @l Aard Seifels /e «ia o faSmam =rea w1l FE, Sz it SRHfEe 9
51 1 T |

o [T WPE A TG 4T (rough) TS ST GRET T FICS ARE | A
*PTYl (rough) IS TEA#T I T (@I YT FI9F FACS AR 11 | I “arwi @3 prel
(rough) 1% SETTH T, I 92 TEITAT TR LIl |

® 1 2T &= AT G TG OMR TEI+@ ored! T | To T A Wa TR G
wfefie e Seaeia creat T =1 |

® 2R%[Cad Y «Fb OMR T&a7@ (edl 3@ | 4 o1z e OMR $&99ta &+[taq
TER, 2RI (T 21V AR W e /3T 39~ #35 ¢ =131 <) f 300 203 |

o #ISPHIE R 2 95! 992 &% 100 5 2 «FE 93 ATeh &TER T 1.50 799 0 4l
T |

® T TGS G (P YIS A APeE A |

® 7P T (F14E T AArEiE OMR S@a%(Td e /Tt 997-7I3% ¢ 99219 408 204 |

o &It SItTa At T F14TS TR @ 2MHTEd et ITERE 2@ | @I- TP,
e, 0T, T @3 TAE | 9% CFCI T I FFAE @ GAEE SPIHS T @RI
Pl 205 KA TRFAND2 TS ®F 904 510 FAEH |
Important Instruction :

o ArHidy e 2en T IS eengm @i T OMR Seeias FiE I @<l =7 |
TriizerEa, A “ihet eEIta (1T ‘A’ It OMR Segita e 2 A’ s =@
3R S 38 ‘A’ o I 00 T3 | PeIed GPie SPTHS (T4t ~Arid oo Rl e
GIGE AR 2RI e FACS I |

o~ FH Gt TR A AT FAHET 2TS OMR Teo{Td 0% epeiat i fire
2@ | ot 1 e =+ freid wprifEe T Rfteo =3 |

ENE
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FiH 09:55 fanfx fm sl viam et s |
TO ANTHHTE TS TearwE gt o et S dEr e ww |

FHE Sfciard UHE FHE Ta6] SEErE! AHAE STHE @UEE 2641 U6 A8 @1 AT
B SHE TS |

THEAT™E S0 |

9% Non-Standard OMR Sheet STE@A™ AT, fSmm@amET maa-maft st 791 (Roll
No.) B faemsf & s tamd fae 3 |

femmamRm Efefien g enfymm /it faamsae g@e1 ga e T, fifsEe s
Toram 3rHee WUETE O e aEE S Ay @'  EE fHeE 3 OMR fiam faerea
At s & aurE | dien ferEarE et/ s e At st amem 1fe ge
W 3ee1 THTHHAT ATSTE BT HATE BT SAAT ST ST |

femaEmEn mat TEST GEWi T ST rough BEME A9 faeTsEEEl @emEl 70 |
famram rough TETE! e faemsam o TE GEmf @S wEEE 'EE T | e
faemgamE e 9 rough EETE! @ e R faeTsEt gHRYE e THE T |
T AiFEt arEE e TEE OMR e fEeE @ E s re | TR Seen 19
ot s st formama faes dmma s 7= |

dir faessi @@ T8 OMR e faez sm@ e | feqmamr 9 & OMR T
ATEATE GEAT BFTHA-SE : G faemst T s e faemsh %', et % 's aafe s
qrEyT e v TEE gerEs o A |

IAHSE 91 2 el W G faersamE 9 100 FifY 4rTE 31T Sk mEl STl e
At amam 1.50 Tt 9 |

TRt e amem SEt geE’ = T |

femmam OMR R faemsams wife fien 3m Trem sensE TEE g 317 "remE
AT |

TEf STH, SR srEEn, s, s, e 3T sufs | & semarE Aree fas usn s o -
S TS ST T ArEleet] SUSATE BIETEAEEH] A4 1 89T | A |
Important Instruction :

femmaamn IrEn S Histite |@iEE e %@ OMR e et B sermams T
TE g A | fEfER eifEd e g e et ' A’ @ e et
wrETEE g faemsf w2 (A ot T e 1 St TEm et = e |

AR WUTE AnTEEE B A  afEnt sramm OMR e st s
Hira e S gH A | AT SIS greEt e fEas e s |

A&
=
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OMR 3ITR-UH & 39ga a1 | g I fafea w6 8 v a+ft u9a aagsgds ug |

o TiiE Terd ana foret wliamefl 1 vien w97 F e waw suEn wWe 9a[ Siest I 61 AgEta
Tl <t ST |

o fe i viemeff e T AT & 91 FW Ifeeiiad FEH] 1 Ivead wLdl 8, 91 39 39
R e smam |

® Non-Standard OMR Iw-94 & ITANT &g &l 3191 Ut 7. 99 gfecent 8 feu e =M w
s &9 4 ford |

o qiieneff &1 frfieress gro fou o sufeufe /O sfie o2 <) o gamer & T2, Teel 91 wfie &4 &
&g 37 Al an wed IRt 3R OMR wi-77 friles 1 |1 & arg | svr et wiereff 3
sufeafa /Te s o2 ey wEaer & foran, & 39 e &1 srufer gusn s |

o Titemeff @t @i 1 S W (rough) F1 yw YT § fou e wm o we | e w6
(rough) S/ I~ AT = TRt a8 = 1T 9T & L weh | Afe adiemeff Iet-1a RS
(rough) T a1 &, T TH IT-T3 1 GeATeh &1 [h a1 ST |

o Tuft uvHl & o udiamefl @i e v OMR I9-U= &1 fean Smem | et 29 W a1 g & &
fore =18 arfafar sw-u= =i T smom |

® wvA Yt & A T OMR Iw-17 fear smom | whiemeff 3w fafée OMR s-m # woa
yfeaest 9., oA I %1 His 3 9191 F1 Hie searts faewor amau & Faw fion @1 wen 9ia-
g2 U | W |

o s 1 FHA 2 FU¢ ET 3R 99 IR § 100 Y &1 R U 999 & fe 1.50 37 20 |

® TTeTd I o fo10 i AN e el 2 |

o TEEREl ®1 39 758 T 3N OMR IW-T4 T Hae el 91 HTell aic-dise 99 4 afl g
1 &R |

o wiEmef 379 giaw % o o W@ 6 weA gfts =1 o W S5-I g, S - e,
e, &gl Ta=dt 3R 3t | 3 Heyf | wrem o w3 forelt wenm 61 7fe o wwee | srgfaen
B4 T SIS SAgETE 1 & FE HE S |
Important Instruction :

o vhemfl 7z ghifvam =t & &6 o=k g v gfeem &1 % OMR SW-v3 4 @& &1 &
w1/ =ren T T @ | IeenEen, afg aiendi @i wem g @@ FE ‘A’ 7@, 9@ OMR
IT-U= A e ‘A’ foraan grm o 3w ‘A’ i ren = g | 3t weA gfteen 8 E ae
34 g i wiE faamta foe, 9 qea oien Ffiers | 97 v gitas 9g0H = 2 |

o Tfian wad Bred A ugel wdemdi w friige % o OMR Iw-u= & | wvA gfere o s
THEAT B | T 3 STATEIA 3 w9 H wwgn S |

=
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1.  SERR AORS @ 38 SHES ?

(a) =l (B) wio&Hml
(C) gl (D) Z=Ew!
1.  @F e SfEf=rE demits Aea ag At ?
(A) == (B) =
(C) w@eM (D) ==
1. ITfEes ToqE SeEaEaEE s o= e iEbm 7
(A) T (B) e
(C) IETE (D) T
1. 3fieifues ol 3 %W |1 01 deg 18 2 7
(A) =< (B) =
(C) TR (D) e
1.  Which colour is not present in the Olympic Flag ?
(A) Red (B) Green
(C) Purple (D) Yellow
2. 9 9@ 529 (2R
(A) F9'5 (B) THGael
(C) =reFl (D) ferai
2. TR SIS %2E 24
(A) o1l (B) wifGaIl
(C) =Ml (D) feral
2. WEEHUTIEEAATIEE |
(A) =rmET (B) @feam
(C) =& (D) =
2. UE ST TR -
(A) T (B) #femm
(C) =& (D) =
2. The Capital City of Peru is
(A) Bogota (B) Santiago
(C) Havana (D) Lima
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TPITE B 5 OG0 T © SdES -

(A) T2 (B) wferrel
(C) ZFRAM (D) g el
T BT GIHHG T ES

(A) TER (B) oSl
(C) zZRwEm (D) fe fgdl
IS Wi THEEE AT ARG ?

(A) =g (B) HiewRTal
(C) T (D) e feeeft
A9l Wik TFHEH nfRmEg |

(A) T8 (B) whieihTal
(C) weTEmE (D) 7 feeeft
The National Stock Exchange is located in

(A) Mumbai (B) Kolkata
(C) Hyderabad (D) New Delhi

a5l FfHTHRI A= SO FFATHRE F2E AR AR S Rl FheEE
Tomtecn! feraferfie sifermia <t fomre <t |

(A) BIOS (B) Hard Disk

(C) CPU (D) USB Flash Drive

o S ofee @ @F AR THMEG G FEACHE QT T FEACHE
2% 2SS Fa0s 92[F F41 I7 ©f fbiEe 3@ |

(A) BIOS (B) Hard Disk

(C) CPU (D) USB Flash Drive

TR BT =& JI8 TR AT (hardware) T I3 T T8 Heeiam Sssme
EAEAT (file transfer) 8T ?

(A) BIOS (/)

(B) Hard Disk (gTEfew)

(C) CPU ()

(D) USB Flash Drive (3.u4.5. %91 g154)

frafafaa g=h @ 38 géam 7 &) eam i, 99 1% Frae 3 gt Frged § wigal S
THTANE S & o I R s ahar & |

(A) =@ (BIOS)

(B) &% few (Hard Disk)

(C) #idi3, (CPU)

(D) 3.vE. . 539 gr5d (USB Flash Drive)
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From the following list identify the hardware component that can be used to
transfer files from one computer to another.

(A) BIOS (B) Hard Disk

(C) CPU (D) USB Flash Drive

Teq Sy Prg-oeR Seegas e TRe fre wimere) SEefR o[l 49 391
AL (202 :

(A) IRITERT *—HowE (B) e[l =i e “ifeiE

(C) wEE “fsaE (D) A= “Algle o=

TOY ©Are Pg-olew TSR Wi SRS WHES wEeite ey e @i
sfeurE SEm TR ?

(A) FRCFEMN “Eq@l (B) FAre~@l @32 fag <ot

(C) SRR “=HarE (D) A= “Atg sfsTr=

T ETATEIST T~ FHY -7 ST Gien TRaf gah Sa-a! Sene) @remt ?
(A) HHEHTH (B) waye 3 feam=a

(C) et (D) T usTe

o8 TSI ST 3T A & HHA-T11 < B Rl gequfl STd o gaeh o T3T H 76T hid! 8 -
(A) HEHRE & (B) wayer 3 fawis

(C) e & (D) R gsTe 9

The range which separates Indo-Gangetic Plains of Northern India from the
Deccan Plateau of Southern India is

(A) Karakoram Range (B) Satpura and Vindhya Range
(C) Aravalli Range (D) Pir Panjal Range
forferfas wapTzs ceimem 7 Senife e vt wizg 2

(A P (B) sizell

©) T (D) =

fora Tmfers whiefem T @b Sevife faaem i =i 2

A) Fa B) s

(C) Tl (D) =l

e &= ST ferrerd e w7

(A fay (B) T

(C) 7 (D) e
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6. Tr=fafea afeai # 8 = femmer 1 728 feedi 2 2
(A) fay (B) M
(C) =gm (D) e

6. Amongst the following rivers, which one does not originate from the

Himalayas ?

(A) Indus (B) Ganga
(C) Yamuna (D) Narmada
7. T SIS oI qeTg A1 2
(A) 100°C (B) —40°C
(€) 0°C (D) 4°C
7. G0 A g 2
(A) 100°C (B) —-40°C
(C) o“C (D) 4°C
7. i g e e dfe e 2
(A) 100°C (B) —40°C
(C)y o°C (D) 4°C
7. UHI 1 99 SAThad &1 & -
(A) 100°C (B)y —40°C
(C) 0°C (D) 4°C
7. Water has maximum density at
(A) 100°C (B) —40°C
(C) o°C (D) 4°C

8. TIE R@FR @ =4S 76 i, g S Soirstsl T+ R SHRe 341 25 ?

(A) 3feeg (B) wedife
(C) et faem (D) ey
8. T ISEEM 4T Terive, feae @3z I/ fore swmw a0 2
(A) 3ffereg (B) wiefifs
(C) =B (D) HrEreg
8. & HATSAEMTAHS GRFA-GIeal fegauT, TTaRE™ R SEE-EE! wal ?
(A) T (B) TEt
(C) T fafiram (D) =T e
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8. 9% IcuTed, o 3 @ue &1 HAewTH T Fren it A sa g

(A) =i (B) stedsms
(C) e s (D) wwTRITE
8.  Which social science studies the production, distribution and consumption of
wealth ?
(A) Commerce (B) Economics
(C) Political Science (D) Sociology
9. frfefae sifee <@t Arsiias Siw couiEs e foare w1 :
(A) 2 fmm (B) st
(C) s (D) TFefEm
9. fary Smfve wifem ez Aarae i (oufE Seme fofes 3
(A) b (B) wiferrs
(C) i (D) <FrefEE
9. TEETE EFEHRAEE FETE i STt i e |
(A) wEiE (B) —mf=m
(C) rsfaam (D) Fefirm
9. Friferfian T 3 st T 3 T T ATy e el <6 e
(A) =i (B) fam
(C) AT (D) efrm
9. Identify the normally radioactive material in the following list.
(A) Plutonium (B) Germanium
(C) Osmium (D) Cadmium
10. SeRe @ibe efeb! e eame 4= AT ?
(A) i (B) e
C) = (D) =5
10. SFERER @ LTS e F© G CAEHIG AT ?
(A) (B) e
€) = (D) =G
10. Wefias SEEAEE SHE SHEE T et 9 ?
(A) =5 (B) @7
(C) =6 (D) =18
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10. Ficfaic #, wfa & fhaa faedi s A8 8 7
(A) = (B) @&
(C) ®: (D) #TS
10. In Volleyball, how many players per team are on the court ?
(A) Five (B) Seven
(C) Six (D) Eight
11, SRS P2 ST 2 SR T = 373 2
A « (B) e
(C) =iMs (D) w2
11. SRTSS FMH A% IR 0 AR SRAAE 2
(A) = B) refo
(C) =ioh (D) i
11, Tl Wi TgSie SATEmws o T ?
(A) "9 (B) ®H7T
(C) @F8 (D) #F10
11. WA % foras g 3159 &% |y dim aren st & 2
(A) (B) 9™
(C) 1B D) &=
11. How many states of India shares border with Assam ?
(A) Nine (B) Seven
(C) Eight (D) Ten
12, 1% GREIST, 2022 AT So7R fawg) @i 2
(A) =Sl Fest (B) BT AGRIST
(C) fer o = (D) forpE zrefael
12, 2022 TR 1ot SRS W ewa! @ i 2
(A) wrEE! Eest (B) B BRIl
(C) T2 fems wisf (D) Ry Zrefl
12.  1st SEe, 2022 & @0, FATEm T-T@T (finance) SR 912
(A) e forrm (B) == HieA verad
(C) e faa s (D) Y ErTeRT
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12. 9aeh Siadl, 2022 F1 A9 % fAa afiwH 2 7

(A) 3T I3 (B) <gAre wead
(C) fera faga wmi (D) s =TT
12. Who is the Finance Minister of Assam as on 015t of January, 2022 ?
(A) Ajanta Neog (B) Chandra Mohan Patowary
(C) Himanta Biswa Sarma (D) Pijush Hazarika
13. 31st N6, 2022 ATATE TPRR P @23 &= @iz ?
(A) e (B) P2
(C) Tofe (D) afa=
13. 2022 FE 315t h AR FOLE (5@ faet 2
(A) B (B) e
(C) Tfem (D) e
13. 31stT, 2022 B &0 AEWE gHaE e g 2
(A) 34 (B) @M 35
(C) WM 33 (D) #F 32
13. 319, 2022 R AEH A e a1 2 7
(A) ierE (B) T
(C) @ (D) =t
13. As on 31%t of March, 2022, how many districts are there in Assam ?
(A) Thirty Four (B) Thirty Five
(C) Thirty Three (D) Thirty Two
14. Frfef¥e omi Teg @imem o =P Al = 551 2
(A) B (B) =
(C) ST (D) o
14. o SEle emiefam T @R SImieE e T SigamE 2
(A) B (B) THelrE
(C) SIS (D) oM
14. TEMETE EFE STETHRR T9E 56 g6t ATEESA 51 e 2
(A) = (B) =&
(C) =R (D) Y=
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14. fr=ferfea 3 @ =5 a1 ew e & | dim s s 7
(A) = (B) e
(C) =M (D) e
14. Which of the following countries share border with Assam ?
(A) China (B) Nepal
(C) Myanmar (D) Bhutan
15. foafafs weoms @ Sibizss 49 w@its ?
(A) TERET TR (B) *RIZHi e
(C) Siv Zra{s! OTg (D) <feml TSR GTg
15. o Swfee ereefem 1w @M orglb w2 =it ?
(A) TTRERRE TG (B) *=29% oTg
(C) T AERF T (D) FhmTsRl oTg
15. TTEATE EFTE SIAThR TSRTE o6 TEH3T1 S hg1ee § 2
(A) TR &g (B) wudare #g
(C) i wriifeRT 3 (D) ifermaH &g
15. Frfafes gei 39, 19 @ q=8 ¥ =E W ?
(A) FERET HG (B) wUsHmR e
(C) o gorfierT &g (D) Heframim &g
15. Amongst the following bridges, which one is at the Easternmost place ?
(A) Naranarayan Setu (B) Saraighat Bridge
(C) Bhupen Hazarika Setu (D) Koliabhomora Setu
16. e FapT=s @mem 77 T S oS S[Es ?
A) fea (B) TRl
(C) <Mt D) =7
16. foicy Tfre sl T @Mib T4 Sy S[iEs ?
(A) faes (B) frmt
(C) el D) =77
16, TTER &8 SHTET S BEATE G 7
(A) fewtin (B) Hf¥mEm
(C) =il (D) g
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16. Fafafeadasmdiadaus arding ?
(A) e (B) fvmEm
(C) =nfid (D) 9
16. Which of the following river is in the Barak Valley ?
(A) Dikrong (B) Kushiyara
(C) Boginadi (D) Bharalu
17. =PRI 3 5 2
(A) Q=R (B) 5%
(C) == (D) wiz®
17. SIPICE Sifenss sifg i 2
(A) IR (B) wieE
(C) ™= (D) =
17.  3TET BTETETT SHisT =1 ?
(A) w (B) &TH
(C) #m= (D) i
17. FEAFIUTHA JHFTR ?
(A) Erem (B) Zi®
(C) = (D) e
17. What is the State Tree of Assam ?
(A) Hollong (B) Teak
(C) Saal (D) Peepal
18. PR (I 012 CAIRIE] SIF AR T4 T3 S11ES ?
(A) Feremitsrm (B) ToG®
(©) TR (D) =E
18. T Tal W AR T4 T SR @I 2T SRES 2
(A) T==isE (B) To@d
(C) T (D) =El
18. e Heeh] RS9 TE H1YE HiqU ST 96 SAERTEE § 2
(A) Fommm (B) T
(©) =R D) T
18. I3 Hawh1 31T Fafia g Hict 3w & fFe R W E 7
(A) FrmEETR (B) &
(C) gt =Rt (D) ==
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18. Poa Mecca and Hoygriv Madhab Temple is at which place of Assam ?
(A) Sibsagar (B) Tezpur
(C) Dumunichowki (D) Hajo
19. TRZIGS SfES bz awel e = :
(A) <iE (B) eI
(C) ity (D) fosaiz
19. WA SRES Bl 59 (0aa =11 21 -
(A) =92 (B) WIFAR
(C) =R (D) foarz
19. SiEmETE oW 91w fafaEam waamt gan a2
(A) s (B) e
(C) «ms (D) faus
19. e fem 9 STEyT SR 1 79 Fa1se |
(A) TE (B) Zrmemms
(C) <mr (D) fémss
19. Name the tea research institute at Jorhat.
(A) Tarai (B) Tocklai
(C) Tamoi (D) Tingrai
20. 22 SPTIRI AR (20 :
(A) =iZH (B) IR ALIR
(C) wwTS! (D) ZETs!
20. 22 S FUHEE 6 =
(A) =IEH (B) IR ALIA
(€) TSt (D) (=TS
20. Tifafem srafin T aegEf ganar 2
(A) sfa (B) w®aR HER
(C) <= (D) SsHEd
20. EIT S TEe ek ! 1 ATH TS |
(A) W (B) AR TER
(C) et (D) SgETerdl
20. Name the first talkie in Assamese.
(A) Bhaiti (B) Baruar Sansaar
(C) Joymoti (D) Indramalati
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21.

21.

21.

21.

21.

e i afiosl 31 Tfe 75 .

(A) SIEIS FETHR SIF THIT RS2 ha

(B) el Sz wiife] i< oy b

(C) 57% PR oIiF I58F

(D) owifer Grae =i oeaee i

S 7= efied! FrafeeEn |

(A) TRl ST G FHE IESSI2 AN

(B) el ST wife] @3 Sl 5% 3

(C) =ors Mgz g ATEs®

(D) e ez 93 foeaee am

WA B HROTREAGHA ?

(A) e ISR AT FER Jeav¥Ts Tt

(B) 37507 31T el STTU GHTY o5 919

(C) wTaftE T TTe

(D) Wi A8% T fawisr ™

T WTEl 1 T feraeh gt T off 7

(A) e 3TaEHt 3T e FootiTE Tee (B)  3TE TS el AR gHTTEg -
(C) wafde iR T=e (D) HidteTTer e S fereiad g
Swaraj Party was founded by :

(A) Bhimrao Ambedkar and Sardar Vallabhbhai Patel
(B) Aruna Asaf Ali and Subhash Chandra Bose

(C) Bhagat Singh and Rajguru
(D) Motilal Nehru and Chittaranjan Das

22,

TRER WA @0 SeEm <, gife, 3d, o e wmrm fefes @R evme
feray =itate <59 2

(A) =T 25 (B) woz7 13

(C) == =7 15 (D) =z 19
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22, SN AU @ gate 1, wife, 39, form w2 s fefars taw wave oy
TR ?
(A) 25=R¥El (B) 13 =Rl
(C) 15 =4« (D) 19=R44
22, YWAR dfEtaeq =8 @I 90W, $er, B, ATHE AW FHE SEmE e
GG 291 2l ?
(A) @25 (B) @13
(C) w15 (D) @™ 19
22, YTHE HEUH 1 HH A 3T 9, Yeraw, Fid, o 3T S T % SR W HeNTE
Tehal & 7
(A) =T 25 (B) g=T 13
(C) #T=7T 15 (D) =T 19
22, Which article of Indian Constitution prohibits discrimination on the grounds
of religion, race, caste, sex and place of birth ?
(A) Article 25 (B) Article 13
(C) Article 15 (D) Article 19
23. T ifve W AT ol S (1) SEES :
A) Fereg B) f
(C) =M (D) =
23, =W e s AR (o= i (=) LS :
A) e B) frs
(C) =FmuE[m (D) TeI=
23, WIEg STfee TR Siier Arg M WieHT, e T (T [Ee) _ HEE |
(A) ST (B) feeeht
(C) wewETg (D) T
23. e EE (), HEWIE HATMGe 9178 1 Ay fem 2
(A) TR (B) feeeh
(C) e (D) T
23. The Gol Gumbad (Gumbaz), the mausoleum of Muhammad Adil Shah, is
located in :
(A) Byapur (B) Delhi
(C) Hyderabad (D) Bhopal
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24, SRSR SR [ Beive T@elERE Srife @9 UDAN © ‘A’ 9be 579 el f 2
(A) ¥ (Aam) (B) @[ (Air)
(C) ==~ (Aakash) (D) @S (Aviation)
24. SFSH SPINEE [ GAGE T@AEER St IREe UDAN *=ibes ‘A’ 3%
QR ?
(A) Aam (B) Air
(C) Aakash (D) Aviation
24, wrata fafier wfiroes fafafeifs geme UDAN' gum femm, <A’ = a1 gemn 2
(A) ™ (B) @R
(C) =M™ (D) ufirEs
24. A F AN IgeF T i Tad, ‘UDAN 8 A’ s 51 & 7
(A) Aam (B) Air
(C) Aakash (D) Aviation
24. What does ‘A’ stand for in ‘UDAN’, the imitiative of the Ministry of Civil
Aviation of India ?
(A) Aam (B) Air
(C) Aakash (D) Aviation
25. ¥ 10 #¥ G I TR TS S-S 2/l &2l SRSR @il Gl i 2
(A)  <FR_UE B) fifouz
(C) T=er (D) fe=iE=
25. T 10 7% (I DI A TR 09 (Gl Som efedle eiud Tore 51 ?
(A) @TEH @B) 551
(C) Tz (D) f=rE=
25. ¥ 10 TG F1S ST A 7 o o o= Fifaras Srart o e 2
(A) T (Airtel) (B) it =i w\ (TCS)
(C) fasii (Wipro) (D) @4 (Reliance)
25. 1 H ST T 10 TG H =AY 1 {22 0 Arefl waefl gt s 59 178 7
(A) wEes (B) ddiwm
(C) fami (D) fem==
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25. Which company became the first Indian company to hit the ¥ 10 Lakh Crore
market valuations ?

(A) Airtel (B) TCS
(C) Wipro (D) Reliance
26. TOTAEA! W RS A AR TSR frfetie ceteht g e w 2
(A) TSI — SlfEIg (B) e — =T
(C) ifz=Gs — @il (D) efefe — i
26. T SEf4s ToreR! (dance form) @ ©IF TS AT A TR @ (SO o7 ?
(A) Tl — SifiEg (B) it — =pr
(C) ITHIGH — el (D) sfef — Efza
26. TTEMETE BFTE & SO HEEE S 3 st ot Tieern 2
(A) & — afee 713 (B) et — smEm
(C) wifefizrgs — =hiem (D) aiifeei — anfeam
26. fr=fefiaa o & =5 @1 el 0 F91 3R 379 ga U1 & Hed §7Ted @ 7
(A) T — AT (B) w&ftn — 3ram
(C) wifetsren — 3 (D) afest — 3iifem

26. Which of the following pairs is INCORRECT with reference to the dance
forms and their native states ?

(A) Yakshagana — Tamil Nadu (B) Sattriva — Assam
(C) Mohiniattam — Kerala (D) Odissi— Odisha

27. SPTR 9@ G TFE (Ramsar site) SEAMED (202 ;

(A) TioE fa= (B) T

(C) Blg f= (D) fozTsamt
27. DI G914 A1 725 (Ramsar site) =g 291 :

(A) Femfm (B) Tl

(C) viTg f= (D) fezTsramt
27. TEEE B g4 FTEME T8« Ramsar site fa=7 |

(A) < faen (B) =Eerl

(C) =igH faeit (D) feg-Famr
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27. 37HY H UHHE THE A5 HTEH R -

(A) fedmsE (B) =@
(C) =g & (D) feg-damr
27. The only Ramsar site wetland in Assam is the :
(A)  Deepor beel (B) Bordolom
(C) Chandubi beel (1) Dibru-Saikhowa

28. fryfafere wgamm wym @Dl b @i, @b ape” sinfm T Ry = 2
(A) =rE B =famE = TEE
(B) IR TR
(C) =1 = s T Tgerem
(D)  SireTa (e Sarge qEee
28. e s @wih “T=ib dnte @b reis” e =i sys o 7
(A) e S #fam = e
(B) SRR TEEER
(C) == & fars Tams sger=w
(D) T 3 S TEeIe
28, TITETATE EATE T4 v FwTE 2 A=, 34 g aravifat gemesn e fa 2
(A) HmEfE A 3w = e faee (B gzt Smems &= fawm
(C) wrgsn wrEfen A e (D) 99 A S o e
28, Freffen i A %\ m davem 38 7=, 99 e A S wEE A IR TE R ¢
(A) TR 3 aiEn e g (B) o fera oemeE
(C) ufeen vd wre famm danerm (D) wve danas fawm wem

28. Which of the following ministries iz NOT associated with the initiative of
“Beti Bachao, Beti Padhao” scheme ?
(A) Mimstry of Health and Family Welfare
(3)  Ministry of Rural Development
(C) Mimistry of Women and Child Development
(D) Ministry of Human Resouree Development
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29. =pi fofees seifames =@ wafee

(A) Feroe (B) @Ezh

() warb (D) fezng
29, =R ol safemmem b .

(A) fmea (B) w@E

() ==l (D) fezars
29, TEH Hiethe BOEETEHE 9712 7

(A) faerr (B) FWEm@

(C) TETER (D) fegme
29, AW Afgwe wierd f2m 2 -

(A) faem (B) HwER

(C) TETErd (D) feorme
29, The Assam Medical College is situated in :

(A) Silchar (B) dJorhat

(C) Guwahati () Dibrugarh
30, TS ETEA STIATE @l e S T e e wfee v

(A) foemee (B) ffavzre

(C) fefabangrem () arsve T
30. TEE FAFEA Tl e B Eiba W Ny 7

(A) e (B) ez

() fefabmtem (D) Aol T
30. A wrEnfy gawe, e s, el aEw wen g

(A) FEUEE (B) =rEm faam Z=ma

(C) wimmEE ' (D) = = Smars
30. Toom szaem, WA AR &) f6E TRe % A qe

(A) FEmRm (B) ===

() fefsesftmmm (D) e fawm
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30. The mission Indradhanush, an initiative of the Government of India, is
associated with :

(A) Immunisation (B} Cleanliness
(C) higitalisation (D) Highway development
31, SREA Ny SRR 17 © [ Mefem @i s @) me ?
(A) &% (B) e =fi
(€) ==l (D) 77
31. TSR AT 17 72 4 (A Fefe fam e 2
(A) Y (B) e =
(C) =™l (0 =%
31. TR FEE SEEEe Yt @ttt 17 a2
(A) wEmET (B) =1 4313
(C) F= (o =
31. WA & Afau™ &1 wE=e 17 s REm A FEa # 7
(A) T (B) =931 AT
(C) FATTE (1) =l e
31. Article 17 of the Constitution of India deals with the abohition of :
(A) Slavery (B) Bonded Labour
(C)  Untouchability (D) Sati

32. 1919 e fgffEre e wha 2t @l weive Al 2
(A) Aealh =E 3 =
(B) THe ONEE S HEEg el
(C) =% fTsis
(D) SR AR ceres bl

32, fom TEfie @ 9 1919 @ selbe = 7
(A) S0 &5 <P
(B) TEHE (FIATETS A (O TeE
(C) T=eH
(D) SEmmSERTEE 5w Gl
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32. TEREM FE SUMEST S 1919 EYTEE AETEHN 2
(A) e wwf THESEE (B) #e™ — IR REEAEE
(C) e ArEEsTE (D) SfcrtaTer SwI- FUREHATE
32. fr=fafaa §d @ i gem 1919 F 78 g5 =ff 7
(A) Tere wae wifta famam man (B) o™ RIS GUT &1 S0 1 TS
(C) = w1 favrs= (D) ferareTen am ®is
32. Which of the following events did NOT take place in 1919 ?
(A) Rowlatt Act was passed
(B) Montagu — Chelmsford Reforms were announced
(C) Partition of Bengal
(D) Jallianwala Bagh tragedy
33. Frfefe @Al Sivh w@ sz ¢ Newd 92t Tiae 721 oy 2019 w1 A2 a2
RS 1 02w ?
(A) & %@ Sfeam (B) o= e wifeaie
(C) e 2 4o =8 ofsae (D) @35l Ffegm
33. i Twive @ Afeemii we w99 ¢ Wi a9 gaifee 91 S 2019 5 ez
AT AT A ?
(A) werifeE sfeam (B) o= e s
(C) == 2y @ ufeam (D) == 38 Sfeam
33. A 9 HEYifEE! § 2019 "EUEEA JTE gEAE @ 816 §YHEAE W @yt
wTETEY T R T ¢
(A) e siferd 3TfiETE (B) i faema e
(C) < 894 8 AR (D) e F=TE AIH
33. T HEE I HE I H S A o (e Jens 2019 H Frtahea 1 9 5 #f dewmn ge
H1s el 7
(A) < wiferd sTfiEmE (B) e fanmd arfimm
(C) < &9 g AlEm (D) w1 s=aTl SAfEE
33. Which of the following schemes was launched in July 2019 to accelerate
water harvesting and conservation measures ?
(A) Jal Shakti Abhiyan (B) Jal Vikas Abhiyan
(C) dJal Hi Dhan Hai Abhiyan (D) Jal Bachao Abhiyan
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34. faferis ! 2w cin fomm 493 Tite wios 7= ?

(A) ARSI B) fEl
(C) z=ZsilS (D) el
34. foiom T@fe @m 2= e (99 <irsa 7 g . 2
(A) eI B) e
(C) T=zsie (D) =iHf<G!
34. TEE T4 SETET SO et wie g 2
(A) e (B) e
(C) weETETE (D) =i
34, frafafEa § § ®5W o1 wm TgiferEm & & gefia T8 2 ?
(A) e (B) s
(C) =g (D) wwEfE
34. Which of the following locations is NOT associated with the petroleum sector ?
(A) Duliajan (B) Nazira
(C) Bongaigaon (D) Margherita

35. T4 (TS FELIUTH S € Gl 9 (GST) Feiie 1 12w ?

(A) @i (B) =
(C) el (D) IR &4
35. @ omib @2 74 ¢ Gl F9 (GST) AT Fcare ?
(A) it B) ==
(C) <Gl (D) ST
35. = gIetd FAf-gsal T Te| S | 29 (GST) 311 TE e 7
(A) ST (B) wid
(C) =TS (D) 3R
35. o%G U Ha1 R (S 0E.A.) T F STer TRl < S °€1 97 ?
(A) S (B) wid
(C) Famer (D) 3T,
35. Which country was first to implement Goods and Services Tax (GST) ?
(A) Germany (B) France
(C) Canada (D) USA
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36. 2022 5% GiAIA] WZ SN, AT T AP S 4 qiem4 20 ?

A) wdoe (B) sroeiT™
(C) rez= (D) Twq e
36. 2022 T GRIHTS (e ATE AGPTSE A S+ fe ?
(A) Fdoe (B) T
(C) Az (D) Te arm

36. 3 2022 TSN JHEH GHTEHSTE WA T4 TgiTa] SHef 7 HeA 379 FAfgga! qira"
LUEER:

(A) HATEH (B) 5ea wew

(C) TSEm (D) I T
36. Sl 2022 G, T3 G971 1 gaiftes die aen T 2 :

(A) Hieh (B) wex wew

(C) TsEH (D) IwLweH

36. As of January 2022, the state which has the maximum number of seats in the
Rajya Sabha, is :
(A) Karnataka (B) Madhya Pradesh
(C) Rajasthan (D) Uttar Pradesh

37. TG TG ICTGITS 2O BTG SIS Fu¢ Fialza] ?

(A) =@ (B) wHIT
(C) Fpea (D) EBd
37. T AGE AT 28w e siwe sifamia stafeem 2
(A) =R (B) weie
(€) fEed (D) “EEd
37. & THI 3 EHR S GUEA 96 YHGsTE grEad HamE 2
(A) T (B) 319
(€) fompra (D) &gz
37. 5" T IEAeRTE & ST & TR HTE AT T 7
(A) w9 (B) 3
(C) femre (D) =gz
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37. Hiuen Tsang visited India during the reign of the King :
(A) Harshavardhana (B) Ashoka
(C) Vishnugupta (1) Samudragupta
38. fnfalRe @@ At SRR gdtates A (Economic Survey of India) &5
A7
(A) B T Y (National Development Couneil)
(B) %578 (Institute of Finance)
() =MEm “frieen @fEdF (Indian Statistical Institute)
(D) & @ (Ministry of Finance)
38. fon Srmfrer wo el Srres wdtafes #3191 (Economic Survey) &% & 2
(A} &rSm Smae o (National Development Council)
(3) fa= %% (Institute of Finance)
(C) SEER i 772H (Indian Statistical Institute)
(D) fos agem (Mimistry of Finance)
38. TTETTE EHT FH3) TRATE A 31 e & e
(A) wfeic sfmama wgs (National Development Council)
(B) e 9% w54
(C) e 2fefess odap
(D) fafafa % weem
38. Frm=fefian 4 8 &% wia &1 snfids wHew wsfm s 2 7
(A) Tl fomm i (B) fore s
(C) WA wifghE Jem (D) fa= warerm
348. Who among the following publishes the Economie Survey of India ?
(A) National Development Council (B) Institute of Finance
(C) Indian Statistical Institute () Ministey of Finance
39. fmf=iere oM iR wdAiee Sevrm sl Ffm e & R meee 2es

T ?
(A) SwEEiEs (B) <=
(©) fa= (D) TEe
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39. fm TEhe @m it FaE TeqrmEm 5o Faeas dfeamian <9z fmEe

o ?
(A) TEEiEe (B) <ffEarm
() ff=e (D) =

39. et 3 e wi s e e FE ) s e 2
(A) HHTEE (B) HrEr
(C)  TTers-H2t Tt (D) = TR

39, frafefaa # & fem srduma #, oft semes S0 w0 $ e o TEm § 836 2 7
(A) ATEETED (B) dfmEmE
(C) iy (D) &

39. In which of the following economies, all productive resources are owned and
controlled by the government ?

(A) Soacialist (B) Capitalist
() Mixed (1) Dual

40. frfafre @G 2=s T2 SEE 1942 T SRS OIS SITEEE 9NE e ?
(A) femiE - (B) IR Biewy
(C) =isi2 FifE wmm (D) eefe wEm

40. Frs TEie @R 2E 1942 5 92091 SRR 991 ST BT SeEE SEE 2
(A) ferar o (B) EmEn obfem
(C) = T1% TeE (D) = Tm

40. TEAT T FEMAEE SRR T YW TP SEEEnEE @) 1942 qEEEE S
A=A ?

(A) Torarsit arh (B) #aH =fgam
(C) 30 Fif e (D) wif e
40. = 1942 3 FETE T ZW WA S8 e HeteiEn 4 | fma 2w 9 s e
(A) o urh (B) #Er wfeam
(C) 30T it deH (D) worfn g

40. In which of the following locations was the Quit India Movement launched by
Mahatma Gandhi in the vear 1942 ?

(A) Shivaji Park (B) Brabourne Stadium
(C)  August Kranti Maidan (1)} Pragati Maidan
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41, B! FEAE AL, 40 W Bimem sS4 | Aerhr Al 12 7 e Frer aeee
59q:
(A) 20 (B) 24
(C) 28 (1) 32

41. 30 ACHA AALE. 40 932 5., 4, 1l Hqeey 30 A 12 2 S0 SR @R |
(A) 20 (B) 24
(C) 28 (Dy 32

41, A FEfaf g 9. AL (LCM) 31 9 40 S0 g6t 2.0 (H.CF) 3 5w 4 |
Hfe 3wt wwAf e awE wweriem 12 S, AeEn 9 At e g
o4 7
(A) 20 (B) 24
(C) 28 (D) 32

41. 7 G w1 e, HEL 40 R S I L uE, 4 7 ) afe € e F e s 12
2, M mam R -
(A) 20 (B) 24
(C) 28 (D) 32

41. The LCM of two numbers 1s 40 and their HCF 15 A. If the difference between
the two numbers is 12, then the sum of the numbers is :
(A) 20 (B) 24
(C) 28 (D) 32

42, 514134 4 5y42+ V16 + 8 29

(A) 52 (B) 8
(©) 19 (m 9

SPACE FOR ROUGH WORK
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42

42.

42,

42,

(A) 52
(C)y 19
meraTE g af ae fE

J51+ V134 4542+ 16 + 0
(A) 52
€y 19
et

Jﬁl 1844542+ 16+ 49

FIUAR

(A) 52
(©) 19
The value of the expression

Jﬁl+‘f1:iei+w4:a+4ﬁ+~.f§
18
(A) 52
() 19

. J51+J134+5J.12+J1_G+Jﬁmﬁm=nﬂﬁ;

(B) 8
(o 9

(B) 8
(i 9

(B) 8
D 9

(B) 8
(D) 9

43.

2 T 29 TR T 1 9, 3 R 599 FR0A TS0 2 o WF 4 @ =9 R0 s

3 o] 73 HeAhI 1o .
(A) 25
(C) 13

(B) 41
(D) 11

SPACE FOR ROUGH WORK
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52. Wicos0= %.'ﬂ:‘ﬁaucﬂ 3 W ZA ;
Ja? _p?
TR A= B) -
h
(©) aZib? m D
a+b
52. Hfteos0= %.Mmeuﬁmm
2 hﬂ
(ay Y= ® 2
b i
() vaZ+b? () h
a+b
52. dfEcos 0= "E.?ﬁsecﬂm:rns‘m:
[ 2 2
(A 2 - 2 ® O
i
) [} h
(C) va=+b" (D)
a+h
52. lfeosb= %, then the value of sec 0 will be :
a2 _ 32
(A) Y2 b B b
Iy a
5 3 h
(C) va+b m ——
a+h
SPACE FOR ROUGH WORK
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51. 98 fb OF (toffees) 9% 79 @2 ww 9009 @ ey 25 | w969 STEG (20F, 7809
AT AR 728 BIF (toffees) T4 | WHAIDLS (RIS o) Hee 6 :
(A) 5 (B) 7
(Cy 10 (D) 14
51. WA 2 EEE FEETETET 98 2% (toffees) THAT FRMH | 9 eI A1 ANAHE!
AT GFE REETRA SATEET 2 F 2R WemE | SEeiE 9E SR
A A 7
(A) 5 (B) 7
(C)y 10 (D 14
51. U WE H H@ FSHIF1 98 A A1 8 | TR F U =k 1, TEH] H] F= 4 2
2wl fuetl | e o w1 gen 4
(A) 5 By 7
() 10 (14
51. 98 toffees were distributed to some boys in a group. Each boy in the group got
twice as many of the toffees as the number of boys. The number of boys in the
group was :
(A) 5 B 7
() 10 (I 14
52. % cos 0= %.mmua:ﬁ:
(A) a~-b* (B) E
b a
(€ va®+b® o —
a+b

SPACE FOR ROUGH WORK
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50, oA’ T T B TS 25% S, (I0E B T TEE AT T RN e s 3w 5 0
(A) 20% (B) 25%
ol 2
() UE% (D) IEE%
50. HH ‘A’ ‘B’ (M 25% 1 (TS T OF ‘B-93 @S ‘A’ (U3 T =108 2w 7 7
(A) 20% (B) 25%
gl .2
(C) 132% () l{.a%
50. Hfe A fa 3uasn B A auafrgs 25% wifam, seen B 7 3uaan A 7 dyatgs 4@ e
W ?
(A) 20% (B) 25%
| 2
( 2% b G—Y%
() 1 5 () 1 3
50, A AF I3 Bk A A 25% AUF R, AR T A A F 957 A o ufemm wm 2 ¢
(A) 20% (B) 25%
© 121% D) m%%
50. If the salary of A 18 25% more than that of B, how much percentage is the
salary of B lower than that of A ?
(A 20% (B) 25%
" i l & E
() 132% () 1535{.
51. <5l 7o GEEEeEE A A 98 5 5 e s | eere wm A wE u wene 9 R

RO e R Bie w1 “1Eee, (U8 IS e o @ R Ta
(A) & B 7
(© 10 (D 14

SPACE FOR ROUGH WORK
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AR. ST FHTTH TR SEE] 1 G0 64 B | 390 3 998 B Hen B
(A) 13 (B) 11
(C) 16 m 9

48. The sum of the four consecutive alternate numbers i G4. The smallest
number amongst them 1s :
(A) 13 (B) 11
(C) 16 (m 9

49. 901 e 2 ¢ 3 GHIES e AF e S8, WEF AALE. T SRS tare 96 | W
900 (G195 (2R
(A) 8 (B) 12
(C) 20 (1 36

49. 930 FOE WHE 2 ;3 93 ©ITW AL, @32 LT 97 7 TH 96, Hv 2R
EI5hp= 29 .
(A) 8 (B) 12
(C)y 20 () 36

49, TR SATTEIE FHATEN FEE 2 ;3 7AW FERE 2,903 (LCM) FW 233 (HCR) &
FAATETEE FEE 96 | F 9 At g fo |
(A) 8 (B) 12
(C) 20 (1 a6

49, 7 @ 2 : 3% W A & 3 IR LOM 3t HOF %1 7e6s 06 % | Sesii &1 49m 8
(A) 8 (B 12
(C) 20 (D) 36

49. Two numbers are in the ratio of 2 : 3 and the product of their LCM and HCF

15 9G. The sum of the numbers is :
(A) 8 (B) 12
(C) 20 (I 36

SPACE FOR ROUGH WORK
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47. XY Zomom 2TV T2 gawmm
3 4 7 2z
(A) 1 (B 3
c) 2 oy 4
a7, AR =Y % s 2L Praman swin
3 4 7T 2z
(A) 1 (B) 3
¢y 2 (D) 4
£=£=E Fiur.'l-'-i-\"-l-?.
47. afz T - R
(A) 1 (B) 3
() 2 (4
47. ”§=}_i.=§' then .r+:§-+z is equal to
4 i K
(A) 1 B 3
(C) 2 (Dy 4
48. WEE GOt Hee AW A REsa 27 ofehl T SR asEE 64 | A wE
AT AT 5
(A) 13 By 11
(C) 16 Dy 9
48, S &Tere “@aE] TE (consecutive alternate) T QSR G4, GTF T TEST
e
(A) 13 (B 11
(C) 16 (9
48. s wift =0 =2 sEfanfs gemmda s 64 | F9nh arr eafas st sEn
(A) 13 (B) 11
(C) 16 i 9

SPACE FOR ROUGH WORK
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46. Mix= 3= o+ AT
X
1 1
\) 9-— B) 2—
{A) 5 (B) P
1 1
C) 9— 1)) =
(C) 3 (D) 9
46. Hfix= Jﬁ.mx“r—'fﬁnnanﬁﬁn
X
() 9t B) 2+
9 9
1 1
C) 9= m =
(C) 3 (1) 3
46. e x= 3 T+ —]fi‘l‘ﬁlﬁ%r
X
1 1
A) 9= B) 2-
(A) D (B) 9
© ok m L
2 4
46. 1fx= V3, then the value of ¥! + b2 18
X
1 1
A) 9= By 2-
(A) r (1) a
1
¢y 9 ) =
(C) (13} a
47. WEY_* XTI E qam:
’ 4 7 2z '
(A) 1 (B) 3
(cC) 2 (D) 4

SPACE FOR ROUGH WORK
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44, WHE SEEERA (fraction) THAWAT (numerator) 3 TR 9 FEEERHA] =60
3/ = | 9 SrEEE R T =
(A 3 (B) 4
(C) 3 (i 6
44, v Tl i & sim A 3 1 gfg 2l 2, 1 o f dR-end A gfg a2 | i w am 2
(A) 3 By 4
(C) & (D) 6
44. When the numerator of a fraction inereases by 3, the fraction inereases by its
three-fourth. The numerator of the fraction is :
(A) 3 (B 4
(C) 5 (D) G
| 1 | 2
e e o TS sl e
45 2 J; .‘E J: 9 tae
2 |
(A) 3 (13) J;
1 1
G e D —
(C) 2 (D) ."/:
| 1 | 2
45. E,gigﬂlgﬂmw.
T
(A) 3 (B) V2
1 1
¢ - D -
(C) 3 (D) 1

SPACE FOR ROUGH WORK
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43.

G HeAE 2 9 T FATE ST 1, 3 5R S6 T0E SIEE 2 938 4 56 S T
IS 3, Femin

(A) 25 (B) 41
(C) 13 (o 11

43, A sl 2 S TEEEE T S 3 S A I S 2 3R 4
peoicieRicicisp i BEE o Erie e ie)
(A) 25 (B) 41
(C) 13 (1) 11

43. v dem T 2 A A R, A TER 1 EE R s AWM A w2 I A R AR A |
HM A W3 ImgEa R, aw k-
(A) 25 (B) 41
(C) 13 (0 11

43. The number when divided by 2, leaves remainder 1; when divided by 3,
leaves remainder 2 and when divided by 4, leaves remainder 3, is :
(A) 25 (B) 41
(C) 13 (Dy 11

44, T < SR T 3 I HImE surehl i Fet vadien 3% «m | sureade s aw
59
(A) 3 (B) 4
(€) 5 (D) 6

44. @b SHTE T 3 79 e T s o SR e Ao | smmba @
(A) 3 (B) 4
(C) 5 0y 6

SPACE FOR ROUGH WORK
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54.

ad.

ad.

JO.04 + 41,44 +J1.69 + J0.0009 T 5=z s

(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
VO.04 + 41,44 + /1,69 +/0.0009 F1UH R :

(A) 1.73 (B) 2.03
(C) 2.73 (D) 1.03
The value of V0.04 + V1.44 + V1.69 + 4/0.0009 is :
(A) 1.73 (B) 2,03
(C) 2.73 (D) 103

55.

55.

ab.

5b.

TR & e[ 45% T TF JW R0 GBR 30% € W | 2w = FER e W
o

(A) 2:3 (B) 3:2

(C) 3:5 (D) 2:5

%5 A 45% =60 S0 AR 30% 99 FAW | 2w Aenite B e A
T

(A) 2:3 By 3:2

(C) 3:5 M) 2:5

o Fafaai 45% 30 e oEE sEtEi 30% F wwm oS | #fg o am Ay
srfamfa wgurn S

(A) 2:3 (B) 3:2

(C) 8:5 (D) 2:5

U HETF A5% T HEn % 30% & 7 © | T8 gen & Zai Ten | #aE R

(A) 2:3 By 3:2

(C) 3:5 (D) 2:5

SPACE FOR ROUGH WORK
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55. 45% of a number is same as 30% of another number. The ratio of the first
number to the second number is
(A) 2:3 (B) 3:2
(C) 3:56 (D) 2:5

56. R oiEa oferm @ 0ol g@vm om0 Wiee afele <@ = 74 @ e
wifrets T 12 @ | A @R 2 e 212 @ 6 SweE 9, o0 30 e wee w
21 b 4FTE A
(A) T5.420 (B) 5,580
(C) T5,620 (1) T5,780

56. o7& TR = N g2y e R o ofelE o wn Al amn e e 12
= (T o7 e e 2 12 B w1 e w9 =) e @i s 30 e o
15
(A) T5420 (B) T 5.580
(C) 5,620 (D) T5.780

56, Teramn wmafa Sym & (Savings Bank) /@ T g | 3R Fmywma famisn sewmmE
A ATHEE JAgHAE faEitgs T 12 1 it T A | 9 7@ T 12 1 3@ aEte
EFgEATE ARTETE /1 30 f S e dmgeaaty e e T
(A) 25420 (B) T5,580
(C) 25,620 (D) 5,780

56. F=1 39 7= &% 0 39 WE 3 T I w2 R wm e fe a9 i 395 free

fem &1 = ofer A 712 ifs @1 ) afe 3 v fam 1 12 s 2, 1 =fen gm 3o fedi &
a7 w1 7 Fe aie 2 -

(A) 5,420 (B) 25,580

(C) 75,620 (D) T5.780

SPACE FOR ROUGH WORK
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56. Liza deposits money in her savings bank in such a way that every next day
her deposit amount is ¥ 12 more than her previous day deposit, If she starts
her deposit with T 12 on the first day, the total amount deposited by Liza at
the end of 30 days will be :

(A) T5H420 (B) 5,580
(Cy 5,620 () 25,780

57. THUITD (Data Set)

1.2.4,1,5,12, 7.8, 5. 1, 16, 17, 12
T wuTa forefe = |
(A) 8 (B) 7
(C) 5 (D) 4
57. uyAraiie sy fdy o= .
1,2.4,1,5, 12, 7.8,5. 1, 16, 17, 12
(A) 8 (B) 7
(C) 5 (D) 4
57. TTETATE B WA Ao @l A |
1,2.4,1,5,12, 7.8, 5. 1, 16, 17, 12
(A) 8 B 7
(C) 5 (0 4
57. =21 9 %) wifeasT A Hifau |
1,2.4, 1.5 12. 7.8 5 1 16, 17, 12
(A) 8B By 7
(Cy 5 (ny 4
57. Find the median of the data set.
1,2,4,1,56, 12,785 1, 16, 17. 12
(A) 8 By 7
(C) & (M 4

SPACE FOR ROUGH WORK
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58. ,JEE—E—JE—\[EﬁﬂTHﬁ‘ERI |
729 144 a1

58.

a8,

a8,

58.

iy
{A) o
20

o =2
(C) 57

]
-
729 14 |

(A) -

| o

20
27

(G -
=3
729
5

Ay ==
(A) P

20
oy =2
) 27

i

Ay -2
(&) —

20

By =

T

Find the value of JEEE = 2 JE
729 144 81

y 3
(A) 9
o) i

27

[25
144

16
81

7 am g ¢

225 [25 Jﬁ
i = f — -2 H1UR 3 i
720 V144 V81 o '

(B) ~5
11
() -:*TE-
7
(B3) -E
11
D)y ——
) a6
7
B -
(B) s
11
(D) ~36
By _
(B) T
11
D) —==*
(L 36
By L
(B) T
11
(1) ~38

SLRC-2022/P-11I/A
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59.

59.

59,

a9,

59.

‘A’ @ @ P 2R R fEE 1000 3@ 1 L/ oree @ UE W R | B @
% ZW P 1 [ arabl e fef= 1010 T 2 @/ oee e 913 geE Sl |
BEANTQITST [, @ PRQIFILH

(A) L5fafa, B) L75fEmM

(C) 12fsfa () 125f&f,

‘A" TR T P e e M 1:00 9ihew afe oere | e woen wE e |
‘B far= 110 wibem @2 =wEm P e 933 shege ofe erans 2 e woem 3
A | §W B, A 93 HEe Q W e = vE P =

(A) 15f=R, (B) L75femE,

(C) 1.2f=m. (D) 1.25f=.M,

‘A3 P st 100 foom, fomame 1 /e amarss g | B s E e
Frm P fawm s va fama 1210 oo, fomam 2 . /as= gnara gEem) | 92 B

ATA" I Q WE AnEEEe, PQ B ama s
(A) 1.5Fs.fa (B) 1.75f%.f.
(C) 1.2%. @ (D) 1.25 %M.

A’ EITE 1:00 =S I A =E P A | AL /A, Fofa A g s OB s a3
= P A s e d S 03 2L A A ags s R Al B, AR Q

T e faean 2, @ PQF i R
(A) 1.5 (B) 1.75 5.5,
(Cy 1278, (D) 1.25 &4,

‘A’ starts his journey at 1:00 p.m. from a location P with a speed of 1 m/sec.
‘B’ starts his journey from the same location P and along the same direction
at 1:10 p.m. with a speed of 2 m/zec. [f'B" meets ‘A" at the location (}, then the
distance PQ is:

(A) 1.5km (B) 1.75 km

(C) 1.2km (D) 1.25 km

SPACE FOR ROUGH WORK
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60.

I @ AT 95 24T 40% 6 1 3R WE 99 e 20% 9% 0 2T | IR P
W e T

(A) 20% (B3) 10%

(C) 24% (D) 28%

G AR A ST 40% T 2 <9 TR 20% AT =4 = | e @b dRds
2

(A) 20% (B) 10%

(C) 24% (D) 28%

| Fare Faasn e 0% T s afwm 200 JwEn | FEEfh 8 SEEE
=4 Srarel ArensE] ?

(A) 20% (B) 40%

(C) 24% (1) 28%

Uk g 1 e 1 aEe 40% 1w 1w @ s fe 200 6 9fy & e @ ) om
[ T 7

(A) 20% (B) 10%

(C)  24% (D) 28%

The price of an article is first decreased by 40% and then increased by 20%.

The net change in the price will be :
(A) 20% (B) 40%

(C)  24% (I 28%

SPACE FOR ROUGH WORK
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From Q. 61 - Q. 63 : Insert the correct options in the blank space :

61. On the moon, air because the Moon's gravitational field is too weak
to retain an atmosphere,

(A) thereis no (B) where no
(C) no (D) 18 no
62, in front of a camera lens changes the colour of the ight that reaches
the film.
{A) Placed a filter (B) A flter is placed
(C) A filter placed (1) When a filter placed

63. In 1850, Yale University established Sheffield Scientific School, .
(A) engineers were educated there (B) where engineers were educated

(C) in which, were engineers eduecated (D) where were engineers educated

From Q. 64 to Q. 67 : Choose the correct pair of words which are SYNONYMS to
each other :

64. (A) Emigrant — Immigrant (B) Piece — Pierce
(C) Frugal - Thrifty (D)) lrritate - Instigate
65. (A) Rely - Resist (B) Rule - Rue
(C) Seeret — Clandestine (D) Site — Sight
66. (A) Deride — Arrive (B) Derive - Divide
(C) Deride — Mock (1) Mock — Praise
67. (A) Citizen — Foreigner (B) Citizen — Emigrant
(C) Citizen — Subject (1) Citizen — lmmigrant

From Q. 68 to Q. 70 : Choose the correct pair of words which are ANTONYMS to

each other :
68. (A) Folly — Stupidity (B) Sweet — Salty
(C) Visible = Unvisible (1)) Secatter — Caollect
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69. (A) Advance - Hetreat (B) Abandon - Desert
() Elevate — Raise (1) Value — Success

70. (A) Acquit — Conwviet (B) Expect — Hope
(C) Faithful - Loyal (D) End - Fimish

From Q. 71 to Q. 76 : Choose the correct options which best explains the meaning

Tl

of the given idioms :

“To split hairs”

(A) To quarrel hatterly

(B) To complain about every small detail
(') To argue about trifles

(1)) To study every detail minutely

72. “Nail the he to the counter”
(A) To hlame a person for something (B) To expose publicly
(C) Toinvestigate an allegation (1) To he vehemently
73. "To see red”
{A) To be mad with anger (B) To see danger
() Sunset (I} To be drunk
74. “To hit below the belt”
(A) To trick the opponent (B) To defeat the opponent
(C) To take bribe (1) To act unfairly in a contest
75. "“To beat about the bush”

(A) To prune the bush

(B) To approach a matter directly

(C) To approach a matter in a roundabout manner
(D) To discuss a matter endlessly

76.

“Bird in hand is better than two in the bush”
(A)  Probability 1s better than possibility
(B3) Certainty is better than possibility

(C)  Possibility 15 better than probability
(1) Probality indieates certainty
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77. Choose the correct order to complete the sentence :
I.  1smelled the gas
1. Door of my house then
111, As soon as
IV. 1 opened the front
(A) I, 10, 100, 1V (B) 11, 111, 1V, 1
(C) 1L IV, 1,1 (D) LIV, LI

78. The following sentence is divided into four parts. One of the parts has nn
error in it. Read the sentence and find the part containing the ervor :

“The movement which mims at
]

rassing awareness about chimate change, hopes
(i

to bring people together to think about
(110

what they can do for reducing harmful pollution ™
(1V)

(A) IV (B) 111
(cy 1 (D) 11

79. “For the little boy, a lolly was tangible, whereas a promise was not.”
The word tangible in this sentence means
(A) Basic {B) Untouchable
() Actual (D) Edible

80. Which among the following options 15 correct ?

(A) My thoughts are with the families of those who have lost their loved
ones in this unfortunate accident.

(B) My thoughts are with the families of those who has lost their loved ones
in this unfortunate incident.

(C) My thoughts are with the families of those who have lost thewr loved
ones in this unfortunate events.

(D) My thoughts are with the families of those who have lost their loved
ones in this unfortunate incidents.
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81. TS adtaEe e 2 Tm 918 o e ad AT o fredte s e w0
(Ay D (B) W
€y R (m E
81. T ZuaE 30 I e (unE HEE (Th) YW @9 T T (T GIEEE (16th) BT
s ?
(A) D (B) W
() R (D E
81. TSl FREmTEn W4 anEten sretwa 't amtafes Eaam e 2
(A) D (B) W
(C) R (D) E
81. U SUHTET H1H M AT EE A HiERd HE S an | w4 S w R R
(A) D () w
(C) R (m E
81. Which letter of the English Alphabet is the seventh from left of sixteenth
from right ?
(A)y D (B) W
(C) R (D E
82. AI5%w ='q 9Bl 36T T 02 A TE | T, RATE TF T HEER Awe W | W
I A SHI0E TE | @IS Tr 3ET0E W0 | TR e ps @m afzms 2
(A) & (B) =m<=
(C) wiEe () wHEe
82, ivEm (EF JOPIE WEIZ TE 07 UIE | wey @ifEe 99t weiEtes S TeiE | ofw
=TT e, GIfES s I | & vy fo T aome 7
(A) (B) ===
(C) m@iTs (D) ##HiEs
82, W FEENE HHE q@AE T 2aE | T S gAraars e seas e |

A1 FmEq wetatd sm fesen geat smfaty G | =it ameidune an
Forra 2

(A) Fm (B) T

(C) Tfem (D) wefam

SPACE FOR ROUGH WORK
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82,

82,

e Egh U U U gAt 1 AT A g0 33§ | 3o, TR S deria o e R ) 5,
A & 978 WA R, e, GRS I AR R | o F SF A FR a7

(A) gu4 (B) e

() dfEm (D) e

Five boys are sitting in a circle facing inward. Ajay 1s between Hohit and
Doljit. Suman is at the left of Shyamal, Rohit is at the left of Suman. Who is
sitting at the immediate right of Ajay 7

(A) Suman (B) Shvamal

(C) Rohit (D) Daljie

83.

83.

§3.

83.

O @ @87 “HCE 3 THA TS UF (TE2 T (T R T vifRed | 1w 3
547 [orae (D67 @@ 759 16 99 W, (T0% (57 IR TE T 120E -

(A) G0 7= (B) 517

(C) 48 7=4 () 45 7=

eI (A OE T o o 30TEe 3 99 O (e O 5E 2 9T | o 3 qom
8 TR (ETAE T 15 A I, TA O A IEF T T 7

(A) 60997 (B) 517w

() 48397 (D) 45397

amd e faf fafafags Tmn 3 ofts s ek et gz 4w ofes | Sl
frmT=enta SE 9 amfa 3= 15 9@ e, | e fEEf Smen atamaeE
57

(A) GO =W (B) 514m@m

(C) A8 9rEn (D) A5 9En

W WA A T A A A R AN A R A AR 2 | A w3 i aw 15 =
%1 BT 2, A 35 U 0 annE A R

(A) 6o B) 517k

(C) 4834 (D) 453

A man is 3 yvears older than his wife and four times as old as his son. [f the
son becomes 15 years old after 3 vears, the present age of his wife 1=

(A) GO vears (B) 51 years

() 48 years (D) 45 years

SPACE FOR ROUGH WORK
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84. FfesEm *mT afm e e 9T Aae T R o=ta =iz ufem | Ao
T qu e B Wik Asee wiee | wfaeld it 3o ol i 2
(A) e (B) =@
(C) Te (D) =ffeew
§4. FiES! £T AT FFEAEA A9 ST WA SFER M0 G =R | A GeE @
Hiaem E| JRSE AR S | A @A Y 0 = ?
(A) wiese (B) =
(C) Tsx (D) «fea
84. @ s e S fEn et S oereme fEme | afaem afma aEeE)
AftaT ey 30 | Afan =1 fenfy snen = 2ame 2
(A) @ren (B) Hra
(C) =m (D) ="
84, @ftm i Afam gar o= 4 v gat & a@ an w@ 4 | 8t | e et S o e et
Frgm i | wfam fFm fen i A 3=m 9
(A) =fem (B wd
() I (D) afFEm
84. Sarta and Savita were coming to each other in the garden in the morming,
Savita saw that Sarita’s shadow was at Sarita’s left side. Which direction
was Savita facing to 7
(A) South (B) East
(C) North (D) West
85. WHaT 20% %99 b, TO0E 203 h% T T WA 2T ;
(A) a$4% (B) an€6%
(C) a%8% (D) as10%
85. u% a €2 20% b W S 20 99 h% A ZA -
(A) o499 4% {(B) n <9 6%
(C) a<q8% (D) a<q10%
85. fe a 3 20% 30 b 5 3reEn 20 3 bo% 30 Sl BHE TP |
(A) afaw (B) af6%
(C) afi8% (D) afi10%

SPACE FOR ROUGH WORK
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855.

85.

afe a &1 20% h &, 7 20 7 b% FAH & -

(A) aF14% (B) a=l6%
(C) a<18% (D)) asl 10%
If 20% of a 1s b, then b% of 20 is the same as :

(A) 4% ofa (B) 6% ofa
(C) 8% ofa (D) 10% of a

86.

86.

86.

T3 TER siERE v[l 2 .5, 4@ ofc 7w o o fres cirre gk 8 . am |
TR Tvae o s 2 fefa, = wPeeime 4 R o | Rewe = HiewmE 9R
| fo.f3. sfews ag = Frem @00 S = | sfver anfem 99 eqiberbe Te=

TS S Y T
(A) 25/, (B) 13f@f
(C) 12ff, (Dy 17 =M

el o R o En 2 Feefae g, 8 feifar om wEive, emem 2 fecfin
e war wem 4 fasfas wfee o am | =Rem o 3w oo qre T 1 fecfae
TR YA CTER | WeR WA 99t o wRerE g iseT AEER =Y (aerial
distance) Z# ;

(A) 25 fefae (B) 13 fesfas

(C) 12 fe:fa: (D) 17 faefag

wigarn maf aEdfEtrm a2 o gee | fee mEf s 8 km
(T T ) grmend ey 2 e M. grarEm s fes @enid o oL gEm ) SeEammE
T mmfafa ffém 1 f6.fa. araman mafa 5'swma ot | st magfa am e ah
TrrE TR w (Aerial) FEuTEDn SEE

(A) 25 fefa. (B) 13 f&.fa.

(C) 12760 (D) 17 f&.M.

wiam s waeE 4 2 56, @ Ao e 8, e 8 feof. 78 e s e 2 e
TH w1 R 3 TR 4 R, 2w i s e R ) o o 9 At gedl R s s amene
e i for 1 T o, wedt R 1 e & wwatem s gos srdie % e = e

glig:
(A) 25w, (B) 13 .5
(C) 12 fws. (D) 17 T

SPACE FOR ROUGH WORK
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86. Kabita walks from her office 2 km to the east, then 8 km towards her right,
then 2 km towards the east and then 4 km towards the south. Finally she
turns left and walks 1 km to reach her apartment. The shortest aerial
distance between Kabita's office and her apartment 1s :

(A) 25 km (B) 13 km
(C) 12km (DY 17 km

87. 35 : 62 3 HoAg el e g G e a2 |
(A) 85:9 (B) G4:8
(C) 26:5 (I3) 120:11

87. @& wE o=l 35 ; 6 97 T eia T welde v fdnn = |
(A) B5:9 (B) 64:8
(C) 26:5 (D) 120:11

87. TR T S T ", W A 0EAE 35 ¢ 6 Sraied JHeEE |
(A) 85:9 (B) 64:8
(C) 26:5 . (D) _!_.?..ﬂ': 11_

87. I8 TN U 1 994 T fo 1 Hend s v wEim 2 5m 35 6 8 |
(A) 85:9 (B) 6G4:8
(C) 26:5 () 120:11

87. Select the number pair in which the two numbers are related in the same
way as 35 : 6.

(A) 85:9 (B) G4:8
(C) 26:5 () 120:11

88. ff=ire e gfam oo wefed we wEm
(1) TmE= (2) == (3 Tamo
(1) T (5) Fmmi« (6) A
(A) 1,5,4,26,3 B) 5 1,4,26 3
(C) 5.4,1,2, 3,6 (I 1,5,2,4,6,3

88. oy Smfre wmreEs yiaed was adsjfens A s
(1) TN (2) AEER (3) W@

(1) 3E (5) Frmmie (6) <=
(A) 1,5,4,2,6,3 (B) 5,1,4,2,6,3
(C) 5,41,23.6 (D) 1,5,2, 4,63

SPACE FOR ROUGH WORK
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89, afa HONESTY =1 5132468 3% POVERTY %1 7192068 fomn am #, @1 s w4
HORSE =1 femn a3 2
(A) 50124 (B) 51042
(C) 51024 (D) 52014

89. I[THONESTY is written as 5132468 and POVERTY 1s as T1920G68, then in the
same code, HORSE is written as :
(A) 50124 (B) 51042
(C) 51024 (1) 52014

90. 200 . == 100 4. Tl ge@ @@NS FamE 20 fi./ ores w9 22 4,/ e @S
HHIEAE =IE 5 S "E | 4% @=6ne! qoe 9 e sfe o, @ 9 amEee
e wfeetn feum Fae gz ?
(A) 21208 (B) 135 50T
(C) 150 5= (D) 120 U508

90. 200 a5 =rat @3z 100 fabra =re w2l @ewfe FareaEse a9 afe cirane 20 fGHR
72 ofe ciare 22 @ fers mae | 1 @n 923 T99e 9os it e = O
AT WS TE0E T8 T A5E ?
(A) 212 07as (B) 135 7ios
(C) 150 7S (D) 120 s

90, fem ¥ @ram wid 200 fa. @ 100 fa. TemE Wt @5 T@iken sEE 20 oa
w22 fa.a, | e tente e e foma wwien, a8 rEE 3E e e e 2
(A) 21287 (B) 1354.
(C) 1504, (D) 1204,

90. 200 izt 3 100 Wz #=h 2 2w 20 dfevdss i 22 iz a6z 9 @ A quET

=@ 1 8 | afe 27 v A fam o == @ §; A 3 vs gmt @) unoE | feaen | s
(A) 212%T%= (B) 135 @%=
(C) 150 953 (D) 120 #6532

SPACE FOR ROUGH WORK
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90. Two traimms of 200 m and 100 m long are running parallel at the rate of
20 m/sec. and 22 m/sec. respectively. How much time will they take to cross
ench other, if the trains are running along the same dirvection 7
(A) 212 sec. (B) 135 sec.

(C)y 150 sec. (1)) 120 sec.

91. Il o frgme e il weare ]E 1! %wﬁﬁﬁhﬁm 104 5.4, | fagwdm
HHIEETE Fve e ol
(A) 52m.fa, (B) 48 m.f.

(C) 4478 () 40 mME

91. «3fh fasres Twn waere 1} l{lj €32 “f7f (perimeter) 104 FHEGE | fogrem
fntey amih 2= ;

(A) 52w (B) 48 LR
(C) 44 PiFGRD@ (D) 40 FFORG=

91. WWA NrETEum FrEaER sguEIn SEE lils-l i AnfnfE famn wmEn
104 8.fa. 1 9 symaRamfs vemafas smafEen amm
(A) 528.fm, (B) 484fa.

() 44 4.fn. (D) 40 3.fa.

91. U Fngs ) Nl w1 3IE % % L 2 5w s oo 104 390, % | B ) wad =
YR
(A) 52 a3, (B) 48 #.5.

(C) 44 7.3, (D) 40 # .5,
91. The ratio of the sides of a triangle is .l:l:l and its perimeter is 104 ¢m. The

23 4
longest arm of the tnangle is :
{A) 52em (B) 48 em
(C) 44em () A0 em

SPACE FOR ROUGH WORK
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92,

92.

92,

92,

ferirz w1 forrar b e affem, ar GoR=nm famE ab afe 3= 20 e s
I Aire sfies | GoF IfF cirm 45 Fem e feang femrem sl | feme foemrem
R 16 fom B e ife =wrs wffew | o ferrg creams et gfe afefem,
czrg fimmarm ife are w'q fmd 29 2

(A) SEFAM (B) =z

(C) meTR (D) wF=EE

femt «afb vafworaa (movie) B4 Aw®a (hooked) a8 ¥ 2Wi¥E %1a oo
(trailer) 3@ =7 =@ 5% 33 =99 20 Fe 4 | vofetas evif*fe =653 (trailer) 45
o« o1 pelooa (movie) Feefes | femt seiwat G 16 7 i 5952 (movie)
ife ciafem | o o1 g BRb s (booked) 33fEm o2 sidmm @W fm
BHAGAD 4 & CTaieE 2

(A) mFAm (B) =feram

(C) #fqam (D) ==m

frm A ArEygAt fefewa @ s /ey trailer @ faf fofea amemt am 20 fomn
fegramammEm | a3 wEgEE ceailer T AEE @@ 45 TomE A oA
Ay frnfs Argma amf @ 16 @fa fegema s | Ffe 320 e wnfa 3 [y
A5, § WEYA FEYTER 96 ATEE GRaaEme 7

(A) TEFET (B) wfEm

(C) teEm (D) wreEn

foren 3 v oien o1 foe o e omm e ez g 0 8 20 F wemt sl fmen e
von frofta 7R & 45 fem ame = feem 2@t B | Feem 3@ fam & 16 fea Tt frefre 8 4t s
T firan 3 orem 2Eht ot | gome & Tom fom few fefis 28 ot 3 3 e =60 fome o
a7

(A) IpFAER (B) wfEm
(C) fgam (D) s
SPACE FOR ROUGH WORK
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92. Priva booked a ticket for a movie whose trailer was released 20 days before
she booked the ticket. She watched the movie 45 davs after the trailer was
relensed. The movie was released 16 day before the day on which Priva
watched the movie. On which day of the week was the movie released if she
booked the ticket on Sunday ?

(A) Friday (B) Saturday
(C) Sunday (D) Tuesday
Q. 93 T A Q. 95 171 : T LS RN / A9 / #10 19 04 :
893. 5:27:9:
(A) 83 (B) 81
(C) 36 () 18
Q. 93 to Q. 95 FeMES Ayl / 31 / =% CiICE @A FA!
93. 5:27:9:
(A) 83 (B) 81
(C) 36 (I 18
Q. 93 Rwm Q. 95 fom
TR ST A g A1
93. 5:27:9:
(A) H3 (B3) 81
(C) a6 () 18
T HeEA 93 | 95 7F o HEH)/ ey ITes 7 Hifan |
93. 5:27:9:
(A) 83 (B) 81
(C) 36 (D) 18

From Q. 93 to Q. 95 : Find the missing numbers/letters/waords.
93. 5:27:9:

(A) 83 (B) B1
(C) 36 (D) 18
94. AQRD:BRSE : LMTJ :
(A) MNREK (B) MNSK
(C) MNUK () MMUK
95. Bus: Driver :: Horse @
{A) Saddle (B) Rein
() Hoarseman (I Stirrup

SPACE FOR ROUGH WORK
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Q. 96 7 *Ml Q. 98 T : foraferfere wifel famsm fefol s famm =% Aicrs 7pd o= QT2
1S wgse | cilbe wEse g faamd fsfy 2=

96. (A) 2837 (B) 7651
(C) 3925 0y 9762

Q. 96 — Q. 98 : I TS e g fewih ¥raew 4= farm o T8 o EE | @b o1
=t wrgefe o 2

96. (A) 2837 (B) 7651
(C) 3925 () 9762

Q. 96 i Q. 98 fam :
Wﬁﬂﬁﬁﬁﬂﬂﬁ[nptinnﬁjﬁﬁmiﬁ me{l’atmrn]ﬁl{ém
W TETAT WAE 20 S 21 | F S TRy e e |

96. (A) 2837 (By 7651
(C) 3925 (1) 9762

A2 uw w96 A 98 ; Frsfefes an fawen 08 65 v faom 92 4 a2 i safem v
TR A & | A9 | SHAd faweT S 44 |

96. (A) 2837 (B) 7651
(C) 3925 () 9762

From Q. 96 - Q. 98 : Three out of the following four options are alike in a

particular pattern and hence form a group. Find the one which does NOT
belong to the group.

96. (A) 2837 (B) 7651
(C) 3925 (D) 9762
225 100
9. ) =7 ®) a1
169 289
C D
© 2744 & 5832
98. (A) i (Emission) (B) 284 (Pollution)
(C) 789 (Contamination) (D) T==mTad (Adulteration)
98. (A) fsfm (B) &rmd
(C) e (D) ToEmEeas

SPACE FOR ROUGH WORK
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98. (A) FE=GTH (B) TE

() N @A (D) W= M T
98. (A) IrHaA (B) weam

(C) Zaw (D) fuemEe
98. (A) Emission (B) Pollution

(C) Contamination (D) Adulteration

99, =wa fhae fagem 3 wem g ==

(A) 12 By 18
(C) 22 (0 26
99, «is el o oo Farsrem sl cdites ot

(A) 12 (B) 18
(C) 22 () 26
99.  gEMisTE TEEE sy € 2

(A) 12 (B) 18
)y 22 M) 26
SPACE FOR ROUGH WORK
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99. & E 3trpta A Fng= <1 e gm it

(A) 12 (B) 18
(C) 22 (D 26

99. Find the number of triangles in the given figure ;

(A) 12 (B) 18
(Cy 22 () 26

100, 7%= frrd!, Hpersl, @l
&% CHFPTER AIEE W Segney afeliig i or) ! e 3=

(A) (B)
(C) () OD
O

SPACE FOR ROUGH WORK
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